
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 5 should be handed to me at the beginning of Monday’s lecture of 3th of April. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 5 in bold at the beginning of your answers.





WEEK 5
L8: Kalecki’s paradox of profits
1. Consider a closed economy without government.

a) From the structural form of the Kaleckian model, write the equation that shows that “capitalists earn what they spend”.

b) Explain the two opposite effects of an increase in the mark-up on total profits in such an economy.

c) “Those two effects exactly offset each other”. Do you agree? Explain.

2. Consider now an open economy without government. MPC out of profits = 0.
 a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A trade surplus of $10b (compared with a balanced trade account) translates into extra profits of exactly $10b” Do you agree? Explain.
c) If the profit share is ¼, how much higher are profits in the export sector than with a balanced trade account? And in the consumption goods sector? Explain. (Assume no imports).

d) If the profit share is ¼, how much higher is production in the consumption goods sector than with a balanced trade account? Explain. (Assume no imports).

3. Consider now a closed economy with government. MPC out of profits = 0.

 a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A government deficit of $10b (compared with a balanced government budget) translates into extra profits of exactly $10b” Do you agree? Explain.
c) If the profit share is 1/3, how much higher are profits in the sector than with a balanced government budget? And in the consumption goods sector? Explain. Assume no taxes.

d) If the profit share is 1/3, how much higher is overall output than with a balanced government budget? Explain. Assume no taxes.

4. Consider an open economy with government.

a) Explain the four effects of an increase in the mark-up on total profits in such an economy.

b) What is the net sum of those effects on profits? Explain.

5. In an open economy with government an increase in the unit profit margin still implies a decline in the number of units sold by firms.

a)Why?

b) But the second effect does not fully offset the first one. Why?

L9:  Ch 3 Dynamic macro

6. Suppose u is always equal to 100% and that there’s an unlimited supply of labour. Which are the four factors that influence the growth rate of productive capacity?

In the following questions, assume there’s no capital depreciation, technological progress is only L-saving and there’s an unlimited supply of labour. Assume also that u = 100%.

7. If Y = K, then a savings rate equal to 10% leads to a growth rate of capital of 10%. Why?

8. If Y = K, a higher proportion of output consisting of investment goods leads to a higher growth rate of capital. Why?

9. If the productivity of capital declines from 1 to 1/2, a savings rate equal to 50% leads to a growth rate of capital of 25% instead of 50%. Why?

10. For a given savings rate, the more productive capital is, the higher is the growth rate of capital. Why?

11. Suppose this year’s GDP growth is equal to 1%.

a) If the growth rate of GDP rises by 50% from this year to the next year, what will be next year’s GDP growth rate? Explain.

a) If the growth rate of GDP rises by 1 percentage point from this year to the next year, what will be next year’s GDP growth rate? Explain.

12. A one percentage point increase in the savings rate may not lead to a one percentage point increase in the growth of capital. Why?

13. A one percentage point increase in the rate of capital depreciation necessarily leads to a one percentage point decrease in the growth of capital. Why?





….




Harrod’s trade cycle model

14. “In Harrod’s model, AD grows ta the same rate of investment”. Do you agree? Explain.
15. Consider the circular flow of expenditure-income-production presented in the lecture (with I = 18€).

a) What happens if I remains at 18€ in the following semester? Explain.

b) What happens if I rises from 18€ to 19€ in the following semester? Explain.

c) What happens if I rises from 18€ to 21€ in the following semester? Explain.

d) What happens if I rises from 18€ to 10€ in the following semester? Explain.

16. a) Present the equation of the accelerator.
b) Explain the rationale for that equation.
17. Consider again the circular flow of expenditure-income-production presented in the lecture (with I = 18€). According to Harrod, what happens if:

a) Entrepreneurs expect AD to rise from 90€ to 99,5€? Explain.
b) Entrepreneurs expect AD to rise from 90€ to 100,5€? Explain.

c) Entrepreneurs expect AD to rise from 90€ to 100€? Explain.
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